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e MBSY ZH(8FDS/HIIS)
Shel: M3l 2T U HEE R L
- _ — NUE &
SA B BA(E) - NRAY - BES Ofl & 28 Ok ot HlRE2
& 14,000
= 35,000
12 JIEtE2 4= 49,000 49,000 0
OZHIEZ At 49,000
—HElY =Hbl XI&(70& /kg) 49,000,000& 49,000
L= 14,000
= 35,000
SSMEE JIBAIE &= 2,260,000 0 2,260,000
= 600,000
L= 400,000
i 1,260,000
401 Al&HI YL S OHYI 2,260,000 0 2,260,000
= 600,000
= 400,000
= 1,260,000
01 Al&H| 2,252,800 0 2,252,800
O=.SHIEXZAMY 2,252,800
— XS HEBSHEAL &X 1,992,800,000& * 14! 1,992,800
= 600,000
& 400,000
= 992,800
—XNESHESHE AL (HI]) 260,000,000& * 14! 260,000
03 AlZ =204l 7,200 0 7,200
OXssHHEaEHEALE &X 2,000,000, 000& *0. 36% 7,200
HII2 MelAld 4,285,160 6,307,560 22,022,400
= 360,000
i 3,925,160
HOlIZ2 MelAd 29 435,160 507,560 AT2,400
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SN SAEZD
HE: NS M

&2 HIIZE MelAlE (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

201 Let2d| 105,360 105,360 0

01 AFR22IH| 2,640 0 2,640
QHIIZHMEAE 2858 +¢ 150,000& 12 1,800
OHVISXMelANE 2SH2s =€ 70,0003 x6H *23| 840

02 23234l 102,720 105,360 A2,640
o222z UIIHE M4 RIIEE =8 400,000 123 4,800
OMgDl HEd dJ[e =2 ZA =2 11,400
—&dE= 350,000& 123 4,200
— XI5t 200, 000& *9JH 2= %4 3] 7,200
Ox2AIE CHoIZ24 A =2 5,500, 000& » 17 2 %23 11,000
OXNE HIIS(HIMM)Hel =2 270,000& »3E=+122 9,720
Ozl 51,000
-2l =(338) 1,700 %20 £ » 100 *37H & 10,200
—A2ANE BEX A= 1,700& *2,000 £ 123 40,800
OLZAE HIBAL =22 (3EFD]) 10,000,000& * 14! 10,000
OBA CCTVAIE LS (OHEIZLH) 400,000 123 4,800

206 M=l 24,800 26,200 21,400

01 Mz bl 24,800 26,200 21,400
OHJIEMelAlE &S AZ(A4SH) 30,000& »300= 9,000
OL2ANE § AZ(OtE A0 ESHE 20,0003 x2& 50 [H 2,000
OFE+ HoAE 4S(STEH 28) 20,0003 »35 100 CH 6,000
OL2ANE 225 7L 40,0003 *10&+62] 2,400
OHZEYLY £ AZ(SSUEE, H2H) 30,000& x2&+40= 2,400
Ox2=2 A8 PPEN 2L 500 «2Z+3,0000H 3,000

301 LptEasg 73,000 0 73,000

_17_




M SASZE
A WG MEEHY XL (BFES/HIIE)
=R OIS X2lAIE (98
SA - EE - SRI(EA) - NRAY - BES 0l &t e B D52
12 JIEtE o= 73,000 0 73,000
OHIJIS2HMelAE Ax0tg AHEZE(Za0rE) 73,000
—AHDIS(E) 20,000,000& 20,000
-3 =2 2E2(269%) 53,000,000 53,000
302 OI=HMol2a= 90,000 0 90,000
01 RIICI0I=E 43 90,000 0 90,000
OHJISHMelAlE HYRAU 0IFEa= 30,000, 000& «32t = 90,000
401 AIEHIZ 208 135,000 176,000 241,000
01 Al&HI 135,000 176,000 41,000
OEANE F==H2IAE H.E= 20,000,000 * 14| 20,000
OAZtAlE SEEH WX 6,000, 000& *42] 24,000
O AIE JtAZEDI| &X 8,000,000& #2271 16,000
OA22 LM . Ex(UHSEE) 40,000,000 »14! 40,000
OHgELe] A2uH 10,000,000& *1& 10,000
OA2tAIE &Z0] WH(gel, s00) 5,000, 000 *2H 2~ 10,000
OUIIEXAIE SII0E0] WA 15,000,000& » 14| 15,000
405 XtoHE S| 7,000 0 7,000
01 HARESF=H 7,000 0 7,000
OBZ2lAF 722 (20HP) 5,000,000 = 1CH 5,000
OCHEHE X (7.5HP) 2,000,000& =1CH 2,000
HYIZ2 & XM2A4 & 2,600,000 0 2,600,000
= 260,000
= 2,340,000
401 AIEHIZ R0 2,600,000 0 2,600,000
= 260,000
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31
8 A

: c*i;a—*épc‘! TH(ZEES/HIIZ)
? IHIJIE HelAld EHelE )
SN BB SR(S) - MRAY - BES Loy e s

2,340,000

01 Al&HI 2,190,424 0 2,190,424
OZHIEZ ALY 2,190,424
—HIISSEHMIAS(HE,HI) 2,190,424,000& 14! 2,190,424
= 260,000
= 1,930,424

02 Zeldl 400,000 0 400,000
OHJISZEMelAE (Y, A2 HESS) 400,000,000& * 14! 400,000

03 AlZ=R0HHl 9,576 0 9,576
O=HIE A 9,576
—HIOISZSEHMelAlZ (e, &) 2,660,000, 000& *0.36% 9,576

MO A2AAE X 1,250,000 1,300,000 250,000
= 100,000
= 1,150,000

401 AlEHIZ2DHH] 1,250,000 1,300,000 A50,000
= 100,000
= 1,150,000

01 Al&H| 1,247,602 1,295,337 AT, 735
O=HIE= At 330,602
—Mgd AZAE & 330,602,000& *14] 330,602
= 100,000
i 230,602
OZHIEZ ALY 917,000
— MY AZAIE EX(NEZHLRBENEZ 917,000,000& 917,000

03 AIZ20i4l 2,398 4,663 A2,265
O=HIE= At 2,398
—Mgd] A2ZAE EX 333,000, 000& *0.72% 2,398




SN B D
Y HY2IEHI(SAIZZ D) (OIEH/DIE
CHol: oIty (=S -ED
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
MY 2HZH (S AIZZ D) (JIEH/IIE}) 1,488,226 1,424,566 63,660
Iz 2 1,368,676 1,307,366 61,310
elE AL (ZAIZZ 1) 1,368,676 1,307,366 61,310
101 Q14| 1,368,676 1,303,106 65,570
03 RIIAHAZZNE = 1,368,676 1,303, 106 65,570
Os30lstA 1,317,662
—Jl=s 1,170,000 x29% 123 407,160
—a0= 277,530
d2=E 1,740,000& *299H 50,460
- HEH&E| 1,740,000 *29E *250% 126,150
g 1,740,000& *29F *200% 100,920
— X2 176,844
A2tel=g 11,550 »298 20 <128 80,388
e =] 92,3903 x29H 3 x 12 96,456
PN == 61,5903 »29H x 15 26,792
— NG 100,920
s 27,840
b < Xt 40,0003 x29Z «12& 13,920
RS 20,0003 x29H x2H x 12 13,920
ANUESHHIE x2S 150, 000& +29H »4 3| 17,400
SR 90,0003 29 12 31,320
AT AL 70,0003 x29 122 24,360
—Z U S A 160,000 & «29H 128 55,680
—uWsE2XY| 140,000 *29H » 123 48,720
—HEF Ot 1,770,000 *29E «120% 61,596
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S AIEZE
HY2IZUI(SAIZZ ) (OIEH/DIE)
ol2i 2 SEREL
SN BB SR (BIH) - MIRAY - 01l &+ o e =
—JtAIXI& bl 110,000 *29H » 123 38,280
—HE=Y 50,0003 x1H ~12& 600
—J|EH(TI=HI) 130, 000& x29H »23| 7,540
—HeEd32(s4e2) 4,000,000& x29H 116,000
onMgss dgady 51,014
—JlEgs 33,0003 x3H x252 x 123 29,700
— 23 29,700,000& *10/100 2,970
&=z 29,700,000 *4/12 9,900
— =22 E 2,864
A2t 2R 86,0103 x3F +5U+ 12 1,082
S22 33,000 *3H 1 » 128 150/ 100 1,782
Sl PNR A==y 33,0003 x3H x20 1,980
— =gl 100,000& 3 122 3,600
p[CE=T 119,550 117,200 2,350
JlE2Z bl 119,550 117,200 2,350
201 eI Y| 67,800 68,340 A 540
01 AR 22| 67,800 68,340 A540
ORNESH 2,000,000& *30H 60,000
OF=3=i:] 4,200
—S201 4| 7,000 309 x20 4,200
OFX= A LRH(AIRA, HIISHEE) 150,000 «2CH x 122 3,600
202 O4Hl 51,750 48,360 3,390
01 =AYl 51,750 48,360 3,390
OZ Ayl 80,000& 30 12 28,800
o220 bl 85,0003 30 x9 22,950

_21_




SA: CABHD
Ha: WRES(SASZD) (BB2S/MOHHE - +F)
el LIS HAKIZ (croy:

[l
10

- _ — NUE &
SN EB . SR(BH) - MRAY - BES 0l &k 24 G DB

HRas(cASZ) (P25 /4ot+E - &) 1,653,199 1,489,050 164,149
LHEHCHXI & 1,653,199 1,489,050 164,149
A2 BES 1,653,199 1,489,050 164,149
701 JIEIRI AN == 1,653,199 1,489,050 164,149
01 JIEtIHEES 1,653,199 1,489,050 164,149

O=&}d E83H &S 1,353,199,000& » 14! 1,353,199

OZEI0IEE ZHEANLE HRNE2L SE3H HE3 300,000,000 * 14l 300,000
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